A2 se)|a SN SaseiA
HY: 244 ABZ 84 Y ATHY
oSl 24% BZ 4 CERE)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
Seedda 1,407,098 1,248,219 168,879
[ 161,500
S 1,245,598
S MEE 54 2 A 1,136,104 983,458 162,646
[ 161,500
= 974,604
e 35 54 400,293 269,693 130,600
S+ 5307 161,797 143,843 17,954
101 el 106,257 89,083 17,174
M IRNZZ2NHSES 106,257 89,083 17,174
OXEFCIL 76,979
OARZFHAR(HI22) 12,474
OogdRE= S 16,804
201 eEt2E | 18,700 18,700
01 AtR2telH| 6,700 6,700
OANRES 7l 2,000
OEXI Xt 3,200
OXHI Xt 1,500
2 s5=44l 12,000 12,000 0
OAZ2EHI= X 5,000
(©ftak=d] 2,000
OXt&=AIH| 5,000
202 O 7,010 6,230 780
01 2O 7,010 6,230 780
0=+ SZA7 RN 3,830
O=FA U0 2,400
OSFH ZHHSEAL 30 A& 780
207 AIHE 16,830 16,830
03 A& 32| 16,830 16,830
OHlIZ, 5%, sAHH(105) 7,530
OnHISF(28) 4,400
OAl & =XIIR(78) 4,900
310 =2/01H 13,000 13,000
01 =22 &01H 13,000 13,000
O o2l MUSsL & 54 ArgHI 13,000
See SEsPAER 64,457 64,134 323
101 2124 47,657 47,334 323
A JINZ22NHSE S 47,657 47,334 323
0=+ SYsHHAL 47,657
202 O 1,500 1,500
01 20| 1,500 1,500
OAMF=A & HREO 1,500
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AR s SN SaseiA
HY: 244 ABZ 84 Y ATHY
oSl 24% BZ 4 CERE)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
207 AR 2,300 2,300
03 AlE 2| 2,300 2,300
Otlz, =%, sXMH(5E) 1,000
OniES(23) 1,300
310 =2/01H 13,000 13,000
01 B &0lH 13,000 13,000
O== Xl 2SAlg AL 13,000
S X F3HA 62,039 61,716 323
101 124 H| 47,657 47,334 323
M IRIMNZ2ENSES 47,657 47,334 323
0244 vaH SS07 47,657
202 04| 468 468
01 =WHHHI 468 468
OMEFE & LR 468
207 AN 13,914 13,914
03 Al& 2| 13,914 13,914
OHIE, 5%, =XHH(105) na
Outis£(23) 3,000
OAlIZF Y =X|2(105) 10,200
SEXNZI|BIEE (M) (S+BX SR L M 112,000 0 112,000
ZHl 2)
405 RHoHRSHI 112,000 112,000
01 &L S SFSHI 112,000 112,000
OArlSMEA 47,000
OxzN2d=s1 18,000
odgs FE 7,200
OEH 35,100
OZEHIOIE 4,700
S MY i 450,113 449,630 483
s 161,500
< 288,613
S AP 75,083 74,600 483
101 12| 71,483 71,000 483
M IRINZ2ENSES 71,483 71,000 483
O== M=+ 71,483
202 Ot 600 600
01 =0 bl 600 600
OMZEFE 2 HEFO 600
207 AN 3,000 3,000
03 A& 42| 3,000 3,000
otlg, =%, sXM(105) 1,500
OXNHEEAE EH| 7 1,500
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AR s SN SaseiA
Y 244 ABZ 4 Y APHY
ol S g i (EEREED
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
S A2 288 2 52,030 52,030
101 e124b] 23,670 23,670
M IRNZ2Z2NSE S 23,670 23,670
0=+ a2 S5 2c 23,670
202 Ot 2,300 2,300
01 2LHoIHI 2,300 2,300
OAM=N & HRHO 2,300
207 A=1IHE 26,060 26,060
03 Al &I 26,060 26,060
OHlZ, =2, sXHH(108) 3,030
OnISF(28) 3,030
OAl%F & =XHIIF(108) 20,000
NSAESASI S L (244)(21D) 323,000 323,000 0
= 161,500
= 161,500
101 el2H] 221,758 192,080 29,678
[ 110,879
= 110,879
M IRNZZ2NHEES 221,758 192,080 29,678
OXIGES &SI 2NL (2=) 221,758
= 110,879
= 110,879
201 Let=2a| 6,000 7,400 A1,400
= 3,000
& 3,000
01 At22telH] 6,000 7,400 1,400
OMFEE F8Hl S 6,000
[ 3,000
S 3,000
202 04l 3,180 6,300 A3,150
[ 1,575
= 1,575
01 2LHOIHI 3,150 6,300 A3,150
O=+= ANEHFAAE 2T 3,150
[ 1,575
= 1,575
207 S=Hone| 29,002 54,220 N25,128
= 14,546
S 14,546
03 AlE & =H| 29,092 54,220 N25,128
OEHl & HIZ(48) 9,000
s 4,500
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THEHE JH

AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
= 4,500
otlzg & HM=HM(105) 6,000
s 3,000
& 3,000
O=8XM & 2=XH(43) 5,612
s 2,806
= 2,806
o= M ((2s) 4,280
s 2,140
== 2,140
O=&AISE & AN ARE S 4,200
s 2,100
& 2,100
307 QI2HO| A 63,000 63,000 0
s 31,500
= 31,500
02 QIRHE&AIHE = 63,000 63,000 0
o2+ SSA=s4 8% &= AF 63,000
s 31,500
== 31,500
S SAHEA 165,123 162,560 2,563
S HHE SXHAA 165,123 162,560 2,563
101 @I244| 96,603 A,040 2,563
M IRIMNZ2ENSES 96,603 94,040 2,563
o= CHE SXHAA 96,603
202 044l 5,360 5,360
01 =WHOdHI 5,360 5,360
O=2== CHE SIHAA J2FX 5,360
207 AN 63,160 63, 160
03 A& 2H| 63, 160 63,160
O2=2Z SAt==01 ti3 24,000
OSSR A 4,000
OEX ZHEUIL(23) 1,960
OuHiEE(23) 20,000
OHlz, =%, sXMH(108) 3,200
OXNEEAE OtAIE 10,000
AL 2 2el 120,575 101,575 19,000
FAIAIE 22t 120,575 101,575 19,000
201 B2 3AY| 55,575 55,575 0
02 2329l 55,575 55,575 0
03323 & HAl 28,500
OA&EHIRXIYI 12,350
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AR s SN SaseiA
HY: 244 ABZ 54 Y ATHY
Rl A FEae (91 =)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
oxtgs A2l 6,650
OFAL & R2HAIE A=l 8,075
405 KHobE =4I 65,000 46,000 19,000
01 MMM ESFSHI 65,000 46,000 19,000
oZsitg Wi 65,000
HYRIZH(SFHAL) 270,994 264,761 6,233
el 24| 250,059 242,276 7,783
S AMgH2 250,059 242,276 7,783
101 el24d] 224,874 217,873 7,001
03 SR (RINH) 22X+ 224,874 217,873 7,001
oM R 224,874
oJlzs 2,146,900 6= 122 154,577
O I=ss 2,146, 9002 ~200+6 H x22] 5,183
OAlRAZ 2+
17,8503 x6E »15AI 2H= 123 19,278
OgxResRId
119,000 68~ 12& 8,568
OgZ =l 12,881,400 x22| x60% 15,458
@F=a1:] 140,000 x6& 122 10,080
OuEH| 100,000 6« 122 7,200
OJtE+g 4,560
SN} 40,0002 x3& + 122 1,440
NS 20,0002~ 122 480
-SAUNE(SMALA)
60,0002 28 » 122 1,440
~=oIE(IEN 20,00021+52+ 122 1,200
M A=FE=SS 25,185 24,403 782
04 SRA(RIAA)2 2N 2EEHRRES S 25,185 5,883 19,302
og3=Rg3(=m2d3) 10,119
ogERE3(ALEE) 8,994
OYFERLZ(1E 2 UHEEH) 6,072
=34 20,935 22,485 21,550
2A2E JI223l 20,935 22,485 21,550
201 &Et2E | 11,280 12,249 A969
01 AtR2telt] 10,550 11,470 A920
ORKN2E AtR22/H 10,550
02 E3=23H| 730 779 A49
ORAMEE SE24H| 730
202 04l 5,415 5,956 b4
01 2HOIHI 5,415 5,956 A541
OFAEY =U0L 5,415
203 B =8| 4,240 4,280 A0
02 H23otetd 22| 640 680 A40
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I EBIEE A SR

L HHPAAY|(S44017L)

CJ=23l

= _ d L
SN - FB . OI(B) - NRAY - BAS ol ke e
OFAIIZ 40,0003 16X 640
04 FA2ELRF=EHI 3,600 3,600
©202! Olat 300,000 x12& 3,600
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